

# Asian Journal of Agricultural Extension, Economics & Sociology

Volume 41, Issue 10, Page 32-36, 2023; Article no.AJAEES.105431 ISSN: 2320-7027

# A Study on Extent of Knowledge Level among Distant Learners of Tamil Nadu Agricultural University

Riyas Babu M. a++\*, Sriram N. b#†, Balasubramaniam P. b#‡, Premavathi R. a# and Gangai Selvi R. c^

<sup>a</sup> Department of Agricultural Extension and Rural Sociology, Tamil Nadu Agricultural University, Coimbatore, Tamil Nadu, India. <sup>b</sup> Tamil Nadu Agricultural University, Coimbatore, Tamil Nadu, India.

<sup>c</sup> Department of Physical Science and Information Technology, Tamil Nadu Agricultural University, Coimbatore, Tamil Nadu, India.

#### Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

#### Article Information

DOI: 10.9734/AJAEES/2023/v41i102137

#### **Open Peer Review History:**

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here:

<a href="https://www.sdiarticle5.com/review-history/105431">https://www.sdiarticle5.com/review-history/105431</a>

Original Research Article

Received: 17/06/2023 Accepted: 22/08/2023 Published: 25/08/2023

#### **ABSTRACT**

The study on Extent of Knowledge level among distant learners of Tamil Nadu Agricultural University (TNAU) was undertaken with objective to document the extent of knowledge level among the distant learners. The research design used was ex post facto. The Coconut Cultivation Technology course was purposefully selected out of the 21 certificate programmes, since it had the

<sup>++</sup> PG Scholar:

<sup>\*</sup>Professor (Agricultural Extension);

<sup>&</sup>lt;sup>†</sup>Directorate of Research;

<sup>&</sup>lt;sup>‡</sup>Directorate of Open and Distance Learning;

<sup>^</sup>Associate Professor (Statistics);

<sup>\*</sup>Corresponding author: E-mail: riyasbabuext@gmail.com;

greatest enrollment. Students who successfully completed the Coconut Cultivation Technology certificate course from batches 2019-2021 made up the study's sample. Out of the 234 students, 130 were chosen using the proportionate random sample method. The data was gathered from the chosen students through both in-person and telephone interviews using a well-structured questionnaire. The study's findings showed that after attending the certificate course, more over half of the learners (53.85%) had medium level of knowledge on cultivation technologies. Also, it was inferred that variables including educational status, farm size, farming experience, information seeking behaviour, determinant factors, progressiveness, job aspiration, attitude towards ODL course and attitude towards entrepreneurship had positive significant relationship with the knowledge level of the learners. It is concluded that learners see distant learning as an efficient medium for education in order to increase their knowledge of agriculture technologies, which would help them improve the conditions on their farms and possible way to start a business.

Keywords: Certificate course; distance learners; knowledge; open and distance learning.

#### 1. INTRODUCTION

Distance education is an organised learning method in which the learner and the instructor are separated by place and occasionally by time [1]. This vital system has grown easier to use, more accessible, and more economical thanks to advancements in hardware and software. As a result, it is believed that distant learning has become widely used [2]. Open and distance learning encompasses a variety of learning modalities, including e-learning, mixed-mode, flexible and dispersed learning [30]. Due to the rising demand for it in the community, distance education in India has a long history and is currently expanding quickly [4].

More than 220 colleges and universities, 15 open universities and a few private institutions the UGC currently accredited bν correspondence, open and remote education throughout the nation [5]. In order to reach the unreached, Tamil Nadu Agricultural University (TNAU), Coimbatore, established a separate directorate for open and distance learning (ODL) in addition to its three main functions. The certificate programme at TNAU is one of several types of distance learning courses available and candidates seem to favour it the most because it is flexible and skill-oriented [6]. Given this context, this study has attempted to investigate the knowledge level of learners of particular technologies strengthened by the ODL certificate course on coconut cultivation technology offered by TNAU.

# 2. MATERIALS AND METHODS

The Directorate of Open and Distance Learning of Tamil Nadu Agricultural University was selected purposively for the study as it offers a

variety of certificate programmes through the Open and Distance Learning (ODL) mode. Based on the course with the highest enrolment. Coconut Cultivation Technology, out of all the courses, was purposefully chosen for the research investigation. The ex-post research design was used. The study's sample comprised of students who have completed the certificate course on Coconut Cultivation Technology from batches 2019-2020 and 2020-2021 in Tamil Nadu State. The proportionate random sampling method was used to select 130 students from the 234 students who studied from 2019 to 2021. A well-planned interview schedule was used to gather information from the selected students through both personal and telephonic interviews. The collected data were processed using Statistical Packages of Social Sciences for calculating descriptive statistics, cumulative frequency, correlation and regression analysis.

#### 3. FINDINGS AND DISCUSSION

## 3.1 Profile of the Learners

Among the learners, more than half of the students (57.70%) who had enrolled in certificate course through distance learning belonged to 35-45 years. Three fourth (75.40%) of the learners enrolled in the certificate courses were men while 24.60% were women. Nearly half of learners (45.38%) were with higher secondary level education, secondary level education (16.92%) and 30.77 per cent had completed their undergraduate degree. Farming was the primary occupation of 52.31 per cent of distance learners, followed by self-employment (39.23%) and private employment (4.62%). Only 3.85 per cent of them were in the unemployed category. The majority of the leaners (73.88%) came from rural backgrounds, while only 26.92 per cent came from urban areas. More than half of them travelled less than 50 kilometres to the study centre. Medium farmers made up one-fourth of the learners (30.77%), had medium levels of farming experience (55.38%) and earned an average of Rs.1,52,000- Rs. 6,21,999 per year [7]. Overall analysis showed that 18.46% of respondents had low information seeking behaviour, followed by 57.69% of respondents with medium information seeking behaviour. [8]. The distance learners' levels of extension agency contact (52.31%), information sharing behaviour (70.77%), and progressiveness (63.85%) were all moderate.

# 3.2 Knowledge

Knowledge was defined as the learner's ability to retain and recall information as well as having a comprehensive understanding of the course material. Table 1 shows that more than half of learners (53.85%) had a medium level of

knowledge, followed by 37.69 per cent who had high level of knowledge and 8.46 per cent had low level of knowledge [9]. The certificate programmes given at DODL, TNAU were brief vocational courses that imparted knowledge about all the fundamental technologies needed to start and run a business. Due to the internal motives' learners become more committed to the subject, which raises their level of knowledge.

From the Table 2, it could be inferred that out of 19 variables, the variables viz., educational status  $(X_3)$ , farm size  $(X_8)$ , farming experience  $(X_9)$ , information seeking behaviour  $(X_{13})$  and determinant factors  $(X_{17})$  had positive significant relationship at 1% level. The variables viz., progressiveness  $(X_{15})$ , job aspiration  $(X_{16})$ , attitude towards ODL course  $(X_{18})$  and attitude towards entrepreneurship  $(X_{19})$  showed positive significant relationship at five per cent level. The variable age  $(X_1)$  had negatively significant relationship at 5% level.

Table 1. Distribution of the ODL learners according to their level of knowledge (n=130)

S.No.	Category	Frequency	Per cent
1.	Low	11	8.46
2.	Medium	70	53.85
3.	High	49	37.69
Total	-	130	100.00

Table 2. Association and contribution of independent variables with knowledge level of learners enrolled under ODL certificate course on coconut cultivation technology

Variable No.	Variables	'r' value	Regression co-efficient	Standard error	't' value
X <sub>1</sub>	Age	-0.192*	-0.301	0.402	-0.749
$X_2$	Gender	0.032 <sup>NS</sup>	0.115	0.465	0.247
$X_3$	Educational status	0.816**	1.845	0.124	14.837**
$X_4$	Occupational status	0.084 <sup>NS</sup>	-0.012	0.021	-0.606
X <sub>5</sub>	Annual income	0.026 <sup>NS</sup>	-0.014	0.359	-0.040
$X_6$	Geographical distance	-0.034 <sup>NS</sup>	0.529	0.356	1.486
$X_7$	Rural-Urban background	-0.147 <sup>NS</sup>	0.577	0.459	1.255
X <sub>8</sub>	Farm size	0.250**	-0.133	0.192	-0.690
$X_9$	Farming experience	0.731**	0.800	0.180	4.438**
X <sub>10</sub>	Medium of instruction	0.048 <sup>NS</sup>	-0.330	0.421	-0.784
X <sub>11</sub>	Social participation	0.159 <sup>ทธ</sup>	-0.098	0.259	-0.380
X <sub>12</sub>	Extension agency contact	-0.013 <sup>NS</sup>	0.007	0.030	0.223
X <sub>13</sub>	Information seeking behaviour	0.936**	0.018	0.017	1.058
X <sub>14</sub>	Information sharing behaviour	0.154 <sup>NS</sup>	-0.012	0.182	-0.063
X <sub>15</sub>	Progressiveness	0.231*	0.062	0.284	0.218
X <sub>16</sub>	Job aspiration	0.203*	0.353	0.212	1.664
X <sub>17</sub>	Determinant factors	0.882**	0.842	0.045	18.742**
X <sub>18</sub>	Attitude towards ODL course	0.198*	0.353	0.117	3.023*
X <sub>19</sub>	Attitude towards entrepreneurship	0.193*	0.055	0.027	2.055*
$R^2 = 0.669$ $F = 14.725**$					'25**

<sup>\*\*-</sup> Significant at 1% level; \* - Significant at 5% level; NS- Non-Significant

The capacity of old aged learners to learn and retain new information may be impacted by their changing cognitive processes, varied life responsibilities and time restraints. Additionally, different age groups can have varied levels of technological competency, which is frequently required for successful distant learning.

Since the majority of the learners had completed higher secondary education, those with higher educational status typically possess better analytical skills and are better able to assimilate new information. It consequently has a positive effect on knowledge [10].

As a result of the learners' positive information seeking and sharing behaviours, they tend to share information with those in their familiar social circles, which both facilitates learning new information and aids in recalling, recollecting, and remembering previously learned material. As a result, it affects knowledge level.

Determinant factors can include any internal or external forces that motivate a learner to enrol in a course. When an individual ultimately decides to pursue something, they gain interest in it. As a result, knowledge is positively correlated with the determining factors.

According to R square value 0.669, the nineteen independent variables used for the study explained 66.90% of the variation in knowledge level of the learners. At one per cent level of significance, the "F" value was also noteworthy. The outcomes therefore match the regression equation.

The prediction equation, which was fitted for the respondents' knowledge level is shown below.

Knowledge level (Y) = 3.988 + -0.301 (X<sub>1</sub>) + 0.115 (X<sub>2</sub>) + 1.845 (X<sub>3</sub>) \*\* - 0.012 (X<sub>4</sub>) - 0.014 (X<sub>5</sub>) + 0.529 (X<sub>6</sub>) + 0.577 (X<sub>7</sub>) - 0.133 (X<sub>8</sub>) + 0.800 (X<sub>9</sub>) \*\* - 0.330 (X<sub>10</sub>) - 0.098 (X<sub>11</sub>) + 0.007 (X<sub>12</sub>) + 0.018 (X<sub>13</sub>) - 0.012 (X<sub>14</sub>) + 0.062 (X<sub>15</sub>) + 0.353 (X<sub>16</sub>) + 0.842 (X<sub>17</sub>) \*\* + 0.353 (X<sub>18</sub>) \* + 0.055(X<sub>19</sub>) \*

The aforementioned equation showed that the regression coefficients for educational status  $(X_3)$ , farming experience  $(X_9)$ , and determinant factors  $(X_{17})$  were all positively significant at the 1% level. At a 5% level of significance, the variables attitude towards ODL courses  $(X_{18})$  and attitude towards entrepreneurship  $(X_{19})$  were positively correlated with knowledge level.

According to the findings, a unit increase in educational status, farm experience, determinant factors, attitude towards ODL courses and attitude towards entrepreneurship will result in 1.845, 0.800, 0.842, 0.353, and 0.055 unit increases in knowledge, respectively. The contribution could alternatively be predicted based on the nature of the link between variables, as was done for association.

#### 4. CONCLUSION

The Open and Distance Learning Centre (ODL) was founded with the primary goal of expand the wings of TNAU to in order to provide agricultural education and entrepreneurial skills for selfemployment to the rural people. The study found that learners see distant learning as an efficient medium for education in order to increase their knowledge of agriculture technologies, which would help them improve the conditions on their farms and possible way to start a business. Learners' educational status, determinant factors, attitude towards entrepreneurship and ODL course inspires them to get a clear and indepth understanding of the subjects. This builds their self-confidence and raises their level of knowledge. As a result, there is more opportunity for agricultural universities to grow and use this medium to spread the agricultural education to a wider audience. Future ICT integration could increase the cost-effectiveness and sustainability of distance learning. Additionally, the introduction of skill-based courses will assist many aspirants in their pursuit of self-employment through business ventures.

## **ACKNOWLEDGEMENT**

I sincerely thank Director of Open and Distance Learning, TNAU for providing the enrolled student details and making my work feasible.

# **COMPETING INTERESTS**

Authors have declared that no competing interests exist.

#### **REFERENCES**

 Purnima KS, Srinivas T, Lalitha A. Perceived effectiveness of agricultural certificate courses through Distance Learning Medium. Indian Research Journal of Extension Education. 2020;20(2&3): 27-30.

- Simonson M, Zvacek SM, Smaldino S. Teaching and Learning at a Distance: Foundations of Distance Education, 7<sup>th</sup> edition; 2019.
- Alam, et al. Learners attitude towards distance education programme: Case of Bachelor Program in Agriculture of Bangladesh Open University. Asian Journal of Agricultural Extension, Economics & Sociology. 2022;40(12):128-135.
- 4. Sridevi Krishnaveni TR, Balasubramaniam P, Anusuya A. Contribution of certificate courses on symbolic adoption of critical technologies of Distance Learners. International Journal of Agricultural Science and Research, 2020:10:1-12.
- 5. Ashok K Gaba. Growth and development of distance education in India and China: A study on policy perspectives. Open Praxis. 2015:7(4).
- Sridevi Krishnaveni TR, Balasubramaniam P, Anusuya A, Vasanthapriya S. Extent of Awareness of Distance Learners of Tamil

- Nadu Agricultural University. Journal of Extension Education. 2017;29(4):5958–5965.
- 7. Archana KP. Impact of Certificate Courses Offered through ODL Mode at TNAU. Unpublished M.Sc. (Ag.) Thesis, Agricultural College and Research Institute, TNAU, Coimbatore; 2014.
- 8. Manisha L, Koshti DNR, Mandve SP. Effectiveness of krishidarshan programme of Nagpur doordarshan as perceived by the farmers. Asian Journal of Extension Education. 2019;37.
- Akila N. Impact Assessment of Bachelor of Farm Technology (B.F.Tech) Degree Programme Offered Through Open and Distance Learning Mode. Unpub. M.Sc. (Ag.) Thesis, AC&RI, Madurai, TNAU, Coimbatore; 2015.
- Soujanya S. Hiremath. Impact of Distance Education on Nutrition and Health of Women and School Dropout Girls. Unpub. M.Sc. (Ag.) Thesis, University of Agricultural Sciences, Dharwad; 2012.

© 2023 Babu et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:
The peer review history for this paper can be accessed here:
https://www.sdiarticle5.com/review-history/105431